X<-40 )g% ﬁce ?+6x+x> -2
es b newiine * —9+6x+x<2

lline xA2 - (x S)Qil’i rI| <2 newline

-2<xX"2 - (x- B)A{%er 2 newllne

it bra@s 27 PAg59

ctaekl

[ xh2 - (x3)2 X Z 1)
#

{ XA2 - (x-3)"2 +x < 2}
}

right none

newline

left Ibrace

stack{

{ xA2 - x"2-9+6x +x > -2}
#

{ x*2 - x"2-9+6x +x < 2}
}

right none

newline

left Ibrace
stack{

{ -9+7x > -2}
#

{ -9+7x < 2}

}

right none
newline

left Ibrace
stack{

{ 7x>T7}

#

{ Tx <11}

}

right none
newline

left Ibrace
stack{

{ x>1}

#

{ x<{11}over {7} }
}

right none
newline
tabella newline
1<x<{11}over{7}




